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AR S 2,914,246 2,762,246 152,000
AFE S 2,914,246 2,762,246 52,000
oz st 2,479,891 2,377,891 102,000
2R 1,184,216 1,175,216 9,000
ANE D= 2l 684,616 675,616 9,000
405 THeHE St 9,000 0 9,000
01 HAUSEHSH| 9,000 0 9,000
OLHLS HUE SSAXI} 01£E
3,000,008 * 3% 9,000 0 9,000
el E ZX 504,020 411,020 93,000
FNDEE LHAs 251,400 208,400 43,000
201 Y2 31,400 28,400 3,000
01 AR 2IYl 16,000 15,000 1,000
LIETER-= 1 1,000 0 1,000
SHE BHots TAHAS Fallsl 193
25,0008 * 5)H * 8 E A 1,000 0 1,000
2 ZZ2YH 10,400 8,400 2,000
OZZ22 % MAl 2,000 0 2,000
SHEO BHols CAHAS 2% 293
2,000,008 * 14! 2,000 0 2,000
301 YLrBAE 100,000 60,000 40,000
07 e12roI=eloft| 45,000 15,000 30,000
OZHDRAA 2129 it
3,000,008 * 10% 30,000 0 30,000
08 /81 ZH0ly| 35,000 25,000 10,000
OHEZ0l 8Msts TAIEIS =23l M
10,000,0002 * 14} 10,000 0 10,000
24 MY WO 237,000 187,000 50,000
202 01t 155,000 35,000 20,000
04 =M 3H01H] 113,000 93,000 20,000
OSYSRINE oheUe+ 2,500,008 * 20% 50,000 30,000 20,000
301 LB 82,000 52,000 30,000
07 e12roI= (01| 82,000 52,000 30,000
OJIEFAI 2 B 2,500,008 * 128 30,000 0 30,000
AN BB D 403,555 353,555 50,000
SEX0 HeHY 29 379, 100 329, 100 50,000
AB4HAR K& 341,600 291,600 50,000
201 L2y 191,600 141,600 50,000
01 ALR eIt 191,600 141,600 50,000
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